AT K.T Examination Aug 2012

. semester :H F.YFM  Marks: 60

Note: All Questions are compulsory. 15 Marks each

Note: All question are cnmpu!s;x\ry

Time: 2.00 hrs
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Sub: Management Accounting

) | The following data are extracted from the books of two companies:

[rer——— —

{ i

| sales -

i &
|

AColtd.Rs. | BCo. LtdRs.

1 Profit After Tax

‘1 tquity Capital
i
{
|

General Reserve
' Long Term Debt
| Creditors

i Bank Loan (Short Term)

l

| Fixed Assets

'E Stock

| Other Current Assets

|

s

T_

| ,.
3,20,000 | 3,00,000 :
12,300 15,800 ‘;
1,00,000 80,000 :}_
23,200 \, 64,200 ';3.
80,000 \g\ 66.000 .\,
38,200 | 54,900 ']
6,000 | 20,000 l"a
1.59,900 \\ 1,59,000
33,100 | 80,500
54,400 | 45,200 |

C_a—lculate:

a) Current Ratio
b) Quick Ratio
c) Returnon Shareholders’ Funds
d) Fixed Assets Turnover Ratio
e) Debt Equity Ratio
Comment on that.

OR
Q.1 From the data given below, compute:

a) Working Capital

b) Net Capital Employed
¢) Current Ratio

d) Acd Test Ratio
e) Debt-Equity Ratio

Scanned by CamScanner




* pecembar 2005
Quest Electro Ltd Balance Sheetas at 31" Dec

—
__w_,_,_ﬁ_avmi_é,s_ e [ —— Assets .Amount Rs.
* Rs. | N
! Equity Share Capitay | 725,000 | Fixed Assets 30,000
j Preference Share Ca pital 5,000 | Current Assets:

| Reserve and Surplus ' 4,000 | Stores 2,000
Debentures 8,000 | Sundry Debtors 1,000
Bank Loan 4,000 | Cash in Hand 2,500
Sundry Creditors 1,000 | Balance at a Bank 2,500
Proposed Dividends 1,000 | Preliminary Expenses 8,000
Provision for Taxation 2,000 | Brokerage of Shares 2,000
Contingent Liabilities 2,000 | Stock in Trade 4,000
52,000 52,000

Q.2 From the following Profit & Loss A/c of G Ltd for the years 2005 and 2006, you are required to
Prepare comparative statements and commént.on the performance of company.

2005 2006 2005 2006
i_To Opening Stock 1,60,000 2,40,000 | By Sales 12,00,000 20,00,000
To Purchases 6,00,000 | 16,00,000 By Closing Stock 2,40,000 6,00,000
To Wages : 2,00,000 | 3,20,000
To Factory Exp. 1,60,000 2,00,000

To Gross Profit ¢/d 3,20,000 2,40,000

14,40,000 | 26,00,000 14,40,000 26,00,000

To Salaries 20,000 24,000
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| roRentBRates | 16,0007 T o o o
: i ; 20,0‘]} Fév GFQSS Profit 3’20’(:(,0 [ 2,40,(5(}; |E
i rrizgge Outward 24, : { ; 1
|0 Ca 000 1 20,000 | By Interest 1,000 | 1,000 |
To pelivery 12,000 , 6,000 receéived «1 t
| gxpenses | ]. !
| 1 ’ ;
| 70 Advertisement 3 |
30000 | 20,000 *
| [xpenses | \
| To Interest on Loan | | (
! {
‘ _ 2'CD0 6,000 1 i li
.| Toloss on Sale of | \
J 558t \
| | 1o Provision for 26,000 20,000 |
': Taxation 76.000 56,000 |
|
- | | |
] }I To Net Profit 1,15,000 - ‘ l‘ }
3 |
{ ] - | -
1 3,21,000 | 2,41,000 \ 3,21,000 \ 2,41,000 |
_‘ OR
;E Q.2 shiv Leela Ltd furnishes you with the following financial statements:
Balance Sheet as at 31* March, 1999
D Rs L Rs. |
| l
Share Capital Building 2,00,000 l
Equity 1,00,000 | Less: Depreciation _15,000 1,85,000
12% Preference 50,000 | Short Term Investments 40,000
Reserves & Surplus 35,000 | Stock 35,000
10% Debentures (secured by Debtors 30,000
mortgage) 50,000 | Bank \% 10,000 |
i
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[ Bilis Payable T T 18,000 ¥ _ - b g g
Craditors foe Soads 20,000 | - |
‘_ Dutstanding Experses 10,000 !
I‘ Provision for Taxation 10,000 !
f Proposed Dividends 10,000 |
i 50000 " 3000
e el .
Profit & Loss A/c for the year ended 31" March, 1939
! Rs. | | Rs.
?To Ope'ning Stock 30,000 | By Sales 3,006,304
' To Purchases 1,80,000 | By Closing Stock 35,000 i‘
’ To Expenses:
Administration : 25,000
; | '
Selling | 30,000
' Financing | 5,000 *
5 To Depreciation 15,000 ‘ !
| To Provision for Taxation 10,000 § f
To Proposed Dividend 10,000 13
To Balance c/d 30,000 ‘
| 3,35,000 | 3,35,000 |
L }

You are required to:

a) Convert the above into commonsize statement in vertical form.

b) Comment on above briefly.
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3 A firm has an investment opportunity costing Rs 2.50 000 thh following expecte
ggu: (i.¢., after taxes and before depreci o B expected net cash

1ation ) LR
~ Year o T L - Net cash ﬂows 1
o (Rs.) |
s;/“"'r 1 60,000 '
| 2 50,000
| 3 40,000
4 70,000
5. 60,000
6 2 50,000
f4 40,000
Usmg 1 1% as the: cost of capital dctermme the following:
w1 ' ‘Payback Period
(2) Net Present Value at 11% Discount Factor,
OR
Q.3 a) Explain types working capital?-('8 Marks)
b) Explain factor determining working capital? ( 7 Marks)

Q.4 a) E_xplziin the sources of Finance? ( 8 Marks)
b) Explain Leverage & Its types ? ( 7 Marks)
- OR

Q 4 Calculate Operatmg Leveragc and Fmancxal Leverage from the followmg mformanon.

Partlculars : a5 A” “B”

Sales | 110,00,000 | 16,00,000
Variable Cost 60% 50%

Fixed Cost ~12,00,000 2,50,000
Interest P 50,000 | 75,000
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